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1. If P is a partition of [1, 3], then

lim > (cptancy) Az =
lpll—=0 =1

(a) /fxta,nxdm
(b) [ tanzdz
(© [ ade

@ [‘ctanzde

(e) /02 tanz dz

/ff(:c)da: =2, | Y f(@)dz = 3, / * g(2)dz = —4.

Which one of the following statements is FALSE:

(@) f fla)g(e) de = —8
(b) fF(z)dz = =3

(c) jl'szf(g;)d:c:zi

(@) [[f(z) - g(x))dz =6

@ f f@da=1

Suppose f and g are integrable functions and that

L.
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) 5= a
() 2-+—gl~£I
0l
(e) 1_%

4. The area of the region enclosed by the curves

Y= :—E_ayzoux‘: -3,z = —2, is equal to

(a) In(1.5)
o e

(b) In2 I\

(c) 1 B ,

(d) 2.5 A - J'(O_E\E) Ax

(e) —In3 3 .
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5.

If g(x) = /_Z (t tan™! t) dt, then ¢'(1) =

3/(}() :('X ’l’ﬁ:\‘ X) = \}i(mx*iu;{t(,x)) . (—-:)‘}

(2) 3 o hamx 4+ x benx
oF o
i ‘f)!m S Qe s g s g
(c) -
4
w
(d) —3
i
(e) 1

The average value of f(z) = V1672 — 22 on [0,4n] is
(Hint: you may use a known area).

4y o
' \ \{T(::TT?—-XL dx
(a) =’ jq LG
ve o 4mn o
i Tam 3
(¢) -
4 —- T T
(d)

(e) 2n?
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7.

'1+sin38 8.36 (’gx@) doe
- — . )
[T = [ (cse s

4 .
Sm@"—k%{gv)& dfc
(a) sin6’+isin46’+0
(b) In|secd + tanb| + C

1
(c) cos@———isin‘lf?«{—c
(d) 1+cos®*+C

1
(e) —sind — gsin36+C

Using the method of cylindrical shells, the volume of
the solid generated by rotating the region enclosed by the ‘,)A'?‘ (fﬁ
curves Vo

y=+z,y=11=4 P
about the line z = 4 is given by |
(a) 2?1’/14(4~2)(\/5"1)da: j?’“‘ (umx O
(b) 27 [ 2(v/E — 1)dz
(© 2r ['(4-o)Vade
@ 2r [ avEde

(&) 27 [z~ )z~ 4)d
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2,
27 - J
9. [ |5cost|dt = ~5 (o5t db +
7'(/2 /
5
.

10.

24

S Cenk At
3(\'

-

s ﬁf ]
Sint .
() 15 55[F9“J ey
= £y

T

s |- (1) + L0 - o))

(d) 9 5[&#’]:[5

The volume of the solid generated by rotating the region
bounded by the curves y = z? and y = 1 about the z-axis
1s

(a) —

(b) =




—
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11.  The length of the curve

y=/_$2\/3t4——1dt, 2< <1

is '3/?; 3)(1.‘_.{
(,)‘7 [+ (3x11) _
(3)7—\@ A
3 a 'S
» fﬂ’/ i j\@ ¥
) L
3 -/ (jx dx
G j} ld?“ =\
(¢} 3 3
d) 2v3 G %XK}L
_ v
0 2 :3@(,..\—(-3)) )

12.  The area of the region bounded by the curves y =+/z + 1

and y = z+1 is equal to
4
(a) 3 ’ \ o
o e
9 — _ 3
b) = Y2 ‘L
()5 1.":(9(4-()--2\;?( '\i"’x }
() 2-/3 g2 2) —(e - e
=S
IS \
@ . :@;8—3-: %
-4 )
8 I
(e) ¢ T3 1 '
5 (=)
4
- —
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3. [\ SR P PR
Y dx
459(,
a\,z /~¢ MJC{“
() 2(1 1)3/2 C
a) Zl1-— = I r
o ol dw
T30
1 1\1/2 "
v _(1_—) e e u G
9 P! Lt
3
9 1\3/2 , . I L
2 a8 z 7 3
(c) 2(1 $3> +C . 2 )()
2 1\1/2
d) =1 —— C
@ s(1-%) +
4 1\3/2
T 1
2
uzg'{&hf?x :::,)(}W:S\’equ,pe(\( 7
. (3+tan:c ‘
z -7‘5;5\“\«
3, u
1 1 o
e N T s
B J—y
2 1 N
by 2. - _
™3 B ey T R
© -1 5t _ .
4 3+ tan’z V“—g /Jf " ”
1
4 —
D Gty T 1 +C
3 (3t
(e) } secx L

3 (37 tada)®
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fﬂ/Q sinz

15. D
~-n/2 1022 4 cos

Il

w/s Q@WCY}MU‘/\W\;:& .
(@) 0 L
oy
(b)y 2 o o
(¢) 2ln10 /
(d) 1
() m+In2

16.  The area of the region enclosed by the curve
y = 2% — bx? + 4z and the z-axis between z = 0
and z = 2 is T .

e (% —Sx 4+ =X {X——\) (x-4) zo

] )
x=e, ', A

5
(a) 5
‘_f_ —
3 B A t
l
o ‘ 1
(c) ! \ 98’%‘14—&& Ax - Y X ~Sx -+ 4x &9:
6 ]
4 ( .
¥y g > 1] - ij(*g XE+QX]
: Jdy-2x X S T3 ‘
(d) 7 G 3 ( ] 1)
A ~2 ¥
- —+% Tk 3
13 A2 +2) . (7 + )
(e) 8 (‘t 3 N . (:E .FL}]
aot f('z“'—3 NS
‘l —
. SR LA
/2 [ ‘ (T (e
/28 69 _!3 Y6 0e
d - = T 3 t &3
}:: > //i / mo Ay S
== K e
7 =3
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2 7 x4 (x+3)
17. / v +dz+3 dx = K — M /
@t @+ T (Zag (e 7
/(% (?‘44-3) Ax /
__l_ 2+,><}
(a) Inlx + 2| x+2-{—C (
[ X+2  dx
2 z —
(b) L +3:c+c J (2
T+ 2
_ . ,,,,L Ax
z+1 - /’L x *
) e t© S

18.

d :3 y (3(’7’ {

x+3—lnl$}+0

The base of a solid is bounded by the curves z = y? and
x = 4. If the cross sections of the solid, perpendicular to
the z-axis, are semicircles, then the volume of the solid is

(a) 4m
(b) )
(c) 8n
™ & | acd
@ 3 ve [porde =2 )T
° 4
(e) %r .7 %x‘l
w Yy = 4
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19.

20.

The area of the surface generated by revolving the curve

eV +e7¥ .
7 0 <y <In2, about the y-axis is
tw*—

T ==

(a) = Gg +1n2)

(b) 12‘?(15+21n2)
(¢) 27(1+1n2)

(d) = (g +ln4)

(e) Z(’n’ +1n2)

v’ (n2) . gin(21n )

recos?(Inz)

1
(a’) 2ec0os(21n 2) +C
(b) 2ecos(2Inz) +

(c) ———L——+C’

2ecos(lnz)

1

(d) esin(2Inz) +C

(e) — S8 L

ecos(Inz)
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